TERTE BT STRANT : IISAAT GURTET 9 ATE 2039
AT 37009 U 9

q)  9¢¢R A e Y AT FHT AT T RERITAT BAGUATIRIT DIVl IR et Bl ?
q) I IS Q) HesT Hisl B o
3) HEHT SAIfET el 8) Heul fager mel fg
1)  In 1889, who called a meeting of barbers in Bombay and discouraged them from tonsuring
wormen?
1) Justice Ranade 2) Maharshi Dhondo Keshav Karve
3) Mahatma Jyotiba Phule 4) Maharshi Vitthal Ramji Shinde
) e foicdr 2geIg ¥ HRvd A oMfor @it i @ Tt 3o e S .
a) MISHTS HTh (i) e B T
b) T TS @ (ii) BSTTE~RichexTaTe &
c) Sl AP (iii) ARTGATSITC el STeTe TR
d) feueRer fig, (iv) 3
i SR :
@ b © @
)0 @ GG
VG @ G) )
3) G Gv) @ G
8) (i) Gv) () (V)
2)  Match the following leaders of the Hyderabad State Congress with their work and places of

work.

a) Govindbhai Shroff i) Head of Action Committee

b) M. Ramchandra Rao i1) Hyderabad-Secunderabad Area

c¢) Dr. Melkote ii1) In-charge of struggle in Marathwada
d) Diambarrao Bindu iv) Andhra

Answer Options :

@ b © @
h o © @ @ @)
) vy O @ @)
3 @ @ O @
4 @) @) @ (@)
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3)  Siiear e ¢
a) 9o i) ST gRIhidl araTerd JaR el ST fgiTciier JanTre!
TRINTETGT dieretl.
b) TERN FATs SRIRHA ii) T SRARIT JRIUII gfaex S7for fag 2.
IR CSIBIEEREN iii) GCHTTST ITSTTAT TIGHST Tl ATETel UTSfIuaRT Aiffider.
d) ToIERT ST Fhiol iv) STt frper 3T <1 wNa ST fordid.
Tt S :
@ ®m © @
N O G G Gv)
)G i) D Gv)
3) (v G @ (i)
8) G G (v G
3)  Maththe following :
a) The Peshwas 1) Built Library of English books and Laboratory for scientific
experiments
b) Maharaj Sawai Jaysingh i) Head European doctors and scholars in the court.
¢) Raghunath Navalkar i) Asked the Portuguese king to send Portuguese astronomers
d) Raja Sarfoji of Tanjore iv) Learnt English and wrote well in the language.
Answer Options :
@ ®m (© @
H O @ @ (@)
) @ @@ @O @)
3 ) @ O (@m
4 @ ® Gv) ()
g) SIS ol
a) W 1) T IoTBRIAR
b) PR ii) Gag e el
¢) IR iii) SR farefi=
d) 9T iv) SR Yoo fef
T S

@ ®m © @
9 G @ v 0
DO @ G ()
3)  Gv G @) 0
8) G O (v G
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4)

Match the following :

a) Mayurbhanj 1) Central Administration

b) Kolhapur i1) Merged into Bombay Province
¢) Rampur ii) Merged into Orissa

d) Bhopal iv) Merged into Uttar Pradesh
Answer Options :

@ b © @
h @ @ G @
) O @ @ Gv)
3) v @) @ @
4 @ @O @) @@

4) B 04 TR ... I AR Rt de e ‘Hava o’ &1 b ferfde.

q) et ?) ieleq 3) WRAHRT g) URer
S5) e wrote 'Natural History' in 75 A.D. in which there are references to exports from India.

1) Pliny 2) Herodotus 3) Megasthenes 4) Periplus
&) Yol POl Rchl JENSEHT AR bR gren ?

a) 4R, gemH b) ferHuft, sFUfE  c) gg g d) HehR IgT

T S -

q) (a) 37T (b) BTh Q) (b) 3T () BEh  3) () MM () B~ 8) (a), (b) M (d)
6)  Who from the following persons were the court painters of Shahajahan ?

a) Mir. Hasham b) Chitramani, Anupchitra

¢) Muhammad Hassan d) Fakir Ulla

Answer Options :

1)(a)and (b)only  2)(b) and (c) only 3) (c) and (d) only 4) (a), (b) and (d)
Y) Yl T PIAHHTIIR HISUl BT,

a) UTfhRaaT &x1d b) TSI TSHT BT heTosett

¢) RISTRi d) Rywer aReg

T S -

1) (@), (d), (b), () R) (a), (), (c), (d) 3) (b), (), (d), (c) 8) (), (b), (a), (d)
7)  Arrange the following things in chronological order.

a) The Pakistan Resolution b) Rejection of Rajaji's proposal in chronological order.

¢) The Rajaji Formula d) Simla Conference

Answer Options :

) (@), (d), (b), (c)  2)(a), (b), (c), (d) 3) (b), (a), (d), (c) 4) (¢), (b), (a), (d)
¢) T SIS e,

q) SRAT-FPRIPT TG, R) REaRm ga-fEr

3) WM TA-ARAT ¥) feqT wAreTeiive Rueetie i -IwR sqer

MPSC IISIaT gd U1l : 2039 gd uRier -9 / 3



8)

Which of the pair from the following is wrong ?

1) Dastas - Bankroka Tapu 2) Siaram Dal - Bihar
3) Parshuram Dal - Orissa 4) Hindustan Socialist Republican Army - Uttar Pradesh
R) SIS e :
a) gReftd i) SrrdagieT IRt Pl AR-ID
b) ST i) gedft wefavr 27 et S
¢) YIguI-Siared! iii) IRIg awas
d) 5P iv) AT FRED
Tt ST :
@ ®m © @
1) G i) @ 0
)G Gv) @ ()
3) @ G G )
g) () @ (Gv) (i)
9)  Match the following :
a) Parikshit 1) is the hero of a famous song of praise found in Atgarvaveda
b) Janamejaya 11) is credited with having gone round the earth
¢) Pravahana-Jaivali iii) Famous Philosopher
d) Janaka 1v) The patron of Yagnavalkya
Answer Options :
@ ®m © @
D Gy @ @ @
2) @ @Gv) @O G
3 O @ @ @)
4 @ @O @) (i)
90) YUl PIvrT R Bt e ARSI 3Tedd FeT AeUIRT S el i ?
a) U <l b) &1 HEa c) XS HEal
d) TGS BIRR ) eHEE TS
Tt ST :
q) (a), (c) 3TN (e) ek R) (b), (¢), (d) 3TV () Heh
3) (a), (b), (¢) AT (d) Fich 8) (a), (b), (), (d) 37T (e)
10)  Who from the following women inspired the womanhood to fight the non-violent war of
independence?
a) Kamladevi b) Hansa Mehta ¢) Ratanben Mehta

d) Ramibai Kamdar e)Laxmibai Garde

Answer Options :

1) (a), (c) and (e) only 2) (b), (c), (d) and (e) only
3) (a), (b), (c) and (d) only 4) (), (b), (c), (d) only
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99) SiieaT o ¢

a) &G S i) Taeeft wm S Ut
b) 1. 1. few® i) IRl el ARG ARt foRrend Tageft goodes
¢) A ST - i) HIgAT ARl ATeTpIHT Hthes &1 UIaR gRaTata aieft faeeit
d) fageRy fogs iv) SaTRAIR MY Rt
TR I
@ m ©© @
1) G @ G @
) Gy G @ @
3) O @) G @)
8) ) @) (Gv) (i)

11) Match the following :

a) Mukunda Das 1) Swadeshi Steam Navigation Company

b) B. G Tilak i1) Swadeshi movement against the use of foreign sugar

c) Lala Lajpat Rai ii1) Requested the Bombay Mill owners to supply dhotis at moderate

rates
d) Chidambaram Pilai = iv) Composed patriotic songs
Answer Options :
@ ®m (© @

D Gvy @ @ @

2)  Gv) @) @ ®

3 O @ @@ G

49 @ O Gv) (i)
9?) Y3 AT YeleTdeh! v quie chel 3 ?

a) O ARRT Rieadiel Plet e gl

b) T freror Tteft w=fT sTet 2.

¢) TERIETCHE SHdaR el 'STaen’ a1 @U G SIe gl

d) T SEST HHISIIET AT -1 SR, iedTeiier fraumear srHrarit sl oot <.

T S

9) PEeRE AR Q) IHEg TEh 3) YrNIG gTetd 8) PURTG AT
12)  Who from the following is described in the following sentences ?

a) He was from the Kale village in Satara district

b) He had studied upto fourth standard.

¢) His 'Jalsa' had tremendous impact on the people of Maharashtra.

d) He used to make the 'Bahujan Samaj' aware of their pitiable condition and lack of education
in them.

Answer Options :

1) Keshavaro Vichare 2) Ramchandra Ghadge 3)Bhaurao Patil 4) Krishnarao Bhalekar

MPSC roawar g oter : 2039 g ot 9wR-9 / 4



93) Wlefierdeh! PIU FerdH TG BRI 8l ?

a) Rasram b) JIRBAE ¢) HIgHGITRT d) TP 3TeHET
ERILIRHE
9) (a), (b) 3 (c) Heh ?) (b) 3T (c) Feh
3) (b), (c) 3T (d) eh 8) (), (b), (c) SN (d)
13) Who from the following Sultans were from the Sayyad dynasty ?
a) Khijrakhan b) Mubarakshah ¢) Muhamadshah d) Allauddin Alamshah
Answer Optins :
1) (a), (b) and (c) only 2) (b) and (c) only
3) (b), (c) and (d) only 4) (a), (b), (c) and (d)

98) 23 H, 9%8Y ISl IsRAG AT 17 Jefied Snfcarii=ar gRycd HINUr H dSfTRY
UaT 3RT PO HiffieTer ?
9) T T Q) MR THBPY
3) ITFRTT THRDBY ) Saoft disel

14)  Who gave a speech at the conference of aboriginals at Zari in Umbargaon Taluka on 23rd May,
1945 and asked them to end the practice of Forced Labour ?

1) Kama Randiv 2) Godavari Parulekar
3) Shamrao Parulekar 4) Devji Tandel
94) I3 T BRI Bl ?
a) HTe5dT b) ISR c) AU
d) A5 e) IR f) IRfT
g) TFIPBID h) pTeh i) TRURID
Tt} ST :
9) IRigaidicr I 2) G THICT AR etell crobrdl I
3) SEETEl I ) N ST TQeT
15) What were the following States ?
a) The Malavas b) Arjunayanas ¢) Yaudheyas
d) Madrakas e) Abhiras f) Prarjunas
g) Sanakanikas h) Kakas i) Kharaparikas
Answer Optins :
1) The States of Aryavarta 2) The tribal States which surrendered to Samudra Gupta
3) The States of Deccan 4) The territories of Naga rulers
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9¢) STiedT STl

Y - I (91R) Y - 11 (F3=a1 PIeER)
a) UR i) 1e

b) o™ i) B

c) 99 iii) AR

d) fdreg iv) R (Seine)

TR I

@ b © @
9 Gv @ @ i
) G @ G0
3) @ v @ G

8) i) v D G
16) Match the following :

Column-I (Cities) Column-II (On River Bank)
a) Paris 1) Rhine

b) Geneva ii) Rhone

¢) Bon ii1) Dneper

d) Kiev iv) Seline

Answer Options :

@ m © @
D v @ @O
2) v @ @ @
3 @ v @O @
4 @ @) @O @

q9) el ARSI fEeiedr ‘S8aq i’ AL Jelid omesi<ar Siear o,

AKISEL i) STR<ITT SR 3Mfefs uRaar
b) See i) TEUfHTET oIt SaTaor

¢) dlexe= iii) STRITT TR FHIST HeTol
d) PR Aled iv) 9fT 8% SR SR I
T S

@ ®m © @
) Gv G @ 0
)G G O ()
3) @ G v 0
8) G O (v @

MPSC IISIRIAT gd UR1&TT : 2039 g Wi 9=-9 / ©



17)

Match the important words in the definition of 'optimum population' with the scholars who gave
them.

a) Boulding 1) maximum economic growth
b) Dalton i) maximum standards of living
c) Peterson 1il) maximum social welfare

d) Car Saunders iv) maximise income per head
Answer Options :

@ b © @
h vy @) @ @
) @ W @O @
3 @ @ Gv) @
4 @ @O @) @\

9¢)

WTefter PO Tertiet alardver et MOr foRT TUNTR STRTOMT 2099 HHTON aRIeR M1 ?

rear e forT TUiRR
a) oM 243 Q¢S
b) B 3%3 3%
0 TS 39% ’%3
d) 3iiRmE 355 }0
g SeR :
) (a), (b), (d) ?) (a), (¢), (d) 3) (b), () 8) (b), (c), (d)

18) Which of the following districts have their correct density of population and sex ratio as per

census 2011 ?

District Density Sex ratio

a) Thane 886 986

b) Nashik 393 934

¢) Nanded 319 943

d) Aurangabad 366 920

Answer Options :

1) (a), (b), (d) 2) (a), (), (d) 3) (b), (¢) 4) (b), (), (d)
%) HRAMEN AN IR ARUITAS Pioreht fRyeft Rofiyd amg 2

a) RGeS fage 9T

b) HRATAT gl SR 3Rfetell A

¢) 30° T go° IS UceAId Sic TaTgrl 3ifeic

T S

9) %h (a) R) B (b) 3) (a) 30T (b) 8) (a), (b) 3T (c)

MPSC IISIRIaT gd URI&TT : 2039 gd WRIe 4iR-9 / ¢



19)  Which situation is responsible for the monsoon winds in India ?
a) Extensive land area
b) Sea lies on three sides of India
¢) Existence of Jet stream in 30° to 40° latitude bellt.

Answer Options :

1) Only (a) 2) only (b) 3) (a) and (b) 4) (a), (b) and (c)
R0) FRER RicaIiler Tl SIRebgH Qfaids IR AR hH 3],

q) SIS, YUSTE, JNHADA R) U, TG, 7GR

3) FAR, TREAR, YL ) 3EBADT, ST, TRIN
20) Findright sequence of tahsils from north to south in MNandurbar district.

1) Shahada, Dhadgaon, Akkalkuva 2) Dhadgaon, Taloda, Nandurbar

3) Navapur, Nandurbar, Dhadgaon 4) Akkalkuva, Dhadgaon, Nandurbar
29) e AT

(7)) (wfia wfgedt)

a) Ry, i) seiTs Aefid FHYsh 99 Teand ST drad.

b) ardY i) frc FHid AFRRIGRSERT ST Urad

¢) TTHaT iii) S feaITdia ATqgel gdd IR ST dTed,

d) TR iv) HeT U2l 3FRded chsdiHed I UTad.

v) UfeEH HreTdiel SRR Yeie A ST drerd.
i SR :

@ m @© @
9 v O M W
)G @M W W
3) @M v » @

8) () @) ) @)
21) Match the following :

(River) (Details)
a) The Indus i) Rises from semi-arid highlands of Chhattisgarh
b) The Tapi i1) Rises in Tibet, near lake Mansarowar
¢) The Narmada iii) Rises in the Satpura ranges, in the Betual district
d) The Kaveri iv) Rises in the Amarkantak hills in Madhya Pradesh.

v) Rises in the Brahmagiri range of the Western Ghats.
Answer Options :
@ b © @
h vy © @
2) @ @ @) (W)
3 @ v O
4 @ @ () @)
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RQ)

22)

SIERIRGIGHE
YRATS WSS Hvit favmr
a) IR Soft i) Remqm, a8
b) feredt sioft i) fagt, sreteR
c) Raretr gyoft iii) PR, ITR
d) M-3R &t iv) STeTTETe, STIAgR
Tt S :
@ ®m © @@
9 G @) (@ 0
) Gvy Gi) @ @)
3 G O @) )
8) O ) Gv) (i)
Match the following :
Dharwar Rock System Area
a) Champion series 1) Singhbhum, Bonai
b) Chilpi series ii) Delhi, Alwar
c¢) Rialo series iii) Kolar, Raichur
d) Iron-ore series iv) Balaghat, Jabalpur

Answer Options :

@ ®m © @@
D @ ) @ O
2) ) @ @ @
3 @ @O @@ @
49 O @ () ()

)

23)

@refiel faure wRien B AT g fider.

a) FEAIY R DIGHT & 9¢° Gd NTgared] Yool e,

b) WRATAT TPl HISH IUTGATRT Yo% DIl AR, BUAATE I FRES AT IS
.

Tt S :

9) (a) 3T (b) SRR ?) (a) RIR (b) TP
3) (a) TP (b) WK 8) (a) AT (b) T

Examine the following statements and select the proper option.
a) Majority of the coal fields found in India to the east of 78° East Longitude
b) The states of Orissa, Chhattisgarh and Jharkhand constitute more than 50% of the total coal

production of India.
Answer Options :
1)(a)and (b)true  2)(a) and (b) false 3) (a) and (b) true 4) (a) and (b) false
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) g@aﬁuﬁﬁﬂmw
a) Pl e AU & YT SOr MRt T W MSesa.
b) URATS Wed AVHL Ag@ o], FI-NT AT,
¢) TIiSaT Wedh AL SIE! Plesehl Jaole THIUNG TSR

g IR :
9) "eh fIUM (a) SRISR 3R, Q) Hh [T (b) SRISR TR,
3) faum (b) 3nfoT (¢) TRI&R 3. ¥) fIUM (a), (b) 3T (c) SRR 3R,

24)  Consider the following statements :
a) The Cuddapha rock system is found in Penganga and Godavari river basins.
b) Iron are and Manganese is found in Dharwar rock system.
c¢) Coal is found in Gondawana rock system on ample sacle.

Answer Options :
1) Only statement (a) is correct. 2) Only statement (b) is correct
3) Statements (b) and (¢) are correct 4) Statements (a), (b) and (c) are correct

RY) R aIRIGHide Prurd faem™ sRIsR ATga ?
a) g IR T yddreRo aredd.

b) & IR FATFD TPRY 37Ted.

¢) 8 AR 3eU™ Jered] SR FofaRe a” el

d) 3 IR FTET TARERIE ATEda.

Tt} ST :

1) (a), (b) ?) (@), () 3) (b),(0) 8) (¢), (d)

25) Which statements are incorrect regarding Chinook winds ?
a) These winds blow on Rocky mountain.
b) These are the local winds.
c¢) These winds climb Alps mountain from its south side
d) These winds blow in Rhine river valley
Answr Optins :

1) (a), (b) 2) (a), () 3) (b), (©) 4) (©), (d)

%) HERYHE eIl fAusHHe (JHSIhRu) B siTel ?
a) AP T PLATIRA U UG P Al Tal.
b) ATSIIRT UTUlt YRAGT PRUANT SSaul FHI0T gl 37Ted.
¢) MY Il TR SMIPGSeAT I WRaed Tal.
d) ercfier IfhTTa afer Saur SfiehgsedT WRasd ATl
g IR :
9) Teh fAUF (a) RIS 3MR. ?) faer (a) 3mfOT (b) SRIER 1R,
3) fae™ (b), (c) M7 (d) RIR 3MRA. ) FIUH (a), (b), (c) AN (d) ISR AT,
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26)

What happened in Maharashtra due to fragmentation of agricultural land ?

a) Farmer is not able to produce food grains, sufficient for his family.

b) There are obstacle to supply water to agricultural land.

¢) The use of modern agricultural tools is uneconomical.

d) To pay individual attention on agriculture is uneconomical.

Answer Options :

1) Only statement (a) is correct. 2) Statements (a) and (b) are correct

3) Statements (a), (b) and (d) are correct. 4) Statements (a), (b), (¢) and (d) are correct.

V) AR @ Wlelld T [T9AIT fawmTetl Sirard. rer arg 9aig fas.
a) YTs 9 b) Y@ IR
¢) YRGS HTH MMM gdd d) FH-"lel AR ISR
e) @ieT AR} HeH f) ART 17
T S -
9) BB (), (b), (c) 3T (e) R) BIS (a), (b), (e) ST (f)
3) HAB (a), (b), (d) 37N (F) 8) P (b), (), (d), (e) ST ()
27) The Ocean floors are divided into the following major divisions. Select the correct option.
a) The continental shelf b) The continental slope
c¢) The continental ridge and hills d) The shallow-deep sea plateau
e) The deep sea plain f) The oceanic deeps
Answer Options :
1) Only (a), (b), (c) and (e) 2) Only (a), (b), (¢) and (f)
3) Only (a), (b), (d) and (f) 4) Only (b), (c), (d), (€) and (f)
¢) SR HRAML YHIU A GURY 93 AT 34, R Iraadl Iepd BT d ARSI ar
T T RATGATR I% BRI I ?
) HPBID § : 30 J FHDIG § : 30 ) AP § : 30 d FhIS § : 30
3) HPID § : 30 d GEHPBI® Y : 30 g) HAIBIS € : 30  HPIB Y : 30
28) Ifthe time in India is 12:00 Noon, what would be the time simultaneously at the Greenwich
meridian and the International date line, respectively ?
1) Morning 6:30 and Evening 6:30 2) Evening 6:30 and Morning 6:30
3) Morning 6:30 and Evening 5:30 4) Evening 6:30 and Morning 5:30
R) U BicaelT I= IW UCcAhgT [AYadtid PHH G [THNIGS Aol a=iT .....
TEUTATd.
9) TP IR Q) ufegdt ar 3) AUR IR ¥) SR IR
29) The winds blowing from the subtropical high pressure belt towards the equatorial low pressure

area known as
1) Local winds 2) Westerlies 3) Trade winds 4) Mountain winds

MPSC ISI%aT qg URI&T : 2039 g U1 yR-9 / 9



30) HERIFIE goea defdier fum e,
a)%ﬂ?ﬂéﬁﬁ@ﬁﬁmaaﬁgﬁrwwm.
b) Sl gaT 31Tg FAT fIMTIT 3G,
¢) dieS! gaT HeRT Rieaa .
d) dieeaT god AfeT Geard WHIoT FHHT SR
gt SR
9) Heh UM (2) TR IR, Q) faU™ (a), (b) 3T (¢) SRR 3.
3) UM (a), (), (d) SRR A 8) fUM (a), (b), (c) 3T (d) TR 3T,

30) Observe the statements regarding soils in Maharashtra.
a) Regur soil contains Aluminium and Iron on sufficient level.
b) Lateric soil is found in moist climate
¢) Red soil is found in Bhandara district.
d) Red soil contains less amount of organic matter.
Answer Options :

1) Only statement (a) is correct 2) Statements (a), (b) and (c) are correct
3) Statements (a), (c), (d) are not correct 4) Statements (a), (b), (c) and (d) are correct
39) FRIRRIF T8 U Wiellcdeh! HIVAT IUHHATIRS 819 b ?
a) frdufievur b) SeTGatT™ gA:TgoT
¢) ST IR IR g8 d) Sxfatg ot
i SR :
) Hh (a), (b) ATT (d) ?) Hth (a), (b) 3T (c)
3) B (a) ) a¥ieT 4
31) Habitat destruction can happen due to which of the following activity ?
a) Deforestation b) Reclamation of Marsh
c¢) Change of land use pattern d) Subsistence farming
Answer Options :
1) Only (a), (b) and (d) 2) Only (a), (b) and (c)
3) Only (a) 4) All the above
32) SiledT ot ¢
TSI PR T TGHUI GiRUTH.
Y- (ST gTcest) wY-1I (i)
a) 900 dB i) T TSR
b) 8o dB i) Priemad! gt
c) Yo dB iii) PR Sur A g
d) Ro dB iv) YU
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32)

@ b © @
9 @ O @ G
)G @ G @
3) O G G @

8) (v (@ G 0

Math the following :

Impact of Noise on Human Activities
Column-I (Noise level)

Column-II (Human A ctivities)

a) 100 dB 1) Sleep Interference
b) 40 dB i1) Loss of Working Efficiency
c)70dB ii1) Permanent Loss of hearing
d) 90 dB iv) Speech Interference
Answer Options :
@ b © @@
Do @ @O @ @)
2) @ @O v ()
3 O @ Gv) @
4 v @ @) @
33) SISl T ¢
w-1 (Fmoft Swedt) wWY-1I (Wg<)
a) fhed i) foheaiT @Telt
b) T4 ii) Yl IRWTEHUT dTEeh
c) 3?5 iii) STATIRR ﬁdfﬁ'{
d) Tige i) SRR e
TRl SR :
@ b © @
) G G @ G
VG G G @
3) G Gv) O @)
8) (v @ @) ()
33) Match the following :

Column-I (Valuable Fauna)
a) Insects

b) Snakes

c) Frogs

d) Earthworms

Column-II (Importance)

1) Consume insects

i1) Crops-pollinators

iii) Soil fertility

1v) Protect damage from Rodents
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Answer Optins :

@ ®m © @@
D @ G @O @)
2) @ Gv @@ @
3 @@ @) O @
4 ) O @@ @

38) WIeicTdeh! PIUAT IO STt 9]42 BT HR Ydi TE FIUMAT 3Med 3 SRR PO
31Tet ?

9) SRl for ?) aferaTcer gt

3) gIBdcIdlet Plegl ¥) T Slethia
34)  Which of the following species was declared extinct in India long back 1952 ?

1) Asian Cheetab 2) Asian Elephant

3) Desert Fox 4) Gangatic Dolphin
3Y) SiedT o -

-1 (FeTel UTeh ) -1 (I759)

a) TRHAYTHT i) M

b) YA HEER il) STRRIS

¢) Ryefiarer iii) STOUTAS U<eT

d) g IS

Tt} ST :

@ ® @© @
) @ Gv G 6
DO G G @
3) G @ @ G

8) @) @ ) ()
35) Match the following :

Column-I (National Parks) Column-II (State)

a) Naramdapha 1) Goa

b) Bhagwan Mahavir i1) Uttarkhand

c¢) Simlipal 1i1) Arunachal Pradesh
d) Dudhwa 1v) Odisha

Answer Options :

@ m © @
h @ G @ @
) O @ ) @
3 @ @ @ W)
4 @ @ G @
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38) JUHHA! Il ToHd /T (PMUY) Seieed /s -
a) AR T AT IRRATT GURIT
b) AT Fertansur
¢) IR RISAIRTH
gl S :
1) (a), (b) Hh ?) (b), (c) T 3) (a) Bh ) aRtedehl g
36) The objective/s of Pradhan Mantri Ujjwala Yojana (PMUY) :
a) Improved health of women and children
b) Women empowerment
¢) Additional employment generation
Answer Optinos :
1) (a)and (b) only  2)(b)and (c) only 3) (a) only 4) All the t hree above
30) g’ Heft @ Higell & ehourTeHe R YeleTch! Iurel aTeiges gl ?
a) N g1 AU ITe=lT/ g
b) STIRY AifEHT Arfect
c) qfgerr 3IU IRT §TSTIR
d) ¥ HIAT HG <X
qgfft S :
q) (a) AR (d) R) (), (b), (c) 3T (d)
3) (), (c) 3MTr (d) 8) (a), (b) 30T (d)
37) The "missing" girls and women phenomenon occurs due to which of the following factors ?
a) preference for male child b) inadequate data
¢) women trafficking d) high maternal mortality ratio
Answer Optins :
1) (a) and (d) 2) (a), (b), (c) and (d)
3) (a), (c) and (d) 4) (a), (b) and (d)
3¢) g eneel U ASET . 9I§d Gieflerddl Piv I aRIsR A8 ?
9) FCER 09¢ LY AR PRUATT AT
Q) @RISR 09 Fq R fhar 31 diset fRest fApfRia o Ihdra.
3) IME ARARA *,Y00 Y& 31ftd Wl FHIAE 3Med.
8) aRiedeh! Tdgl ATl
38) Consider the following statement about "Sansad Adarsh Gram Yojana" (SAGY), which of the

statement is not correct ?

1) Introduced in September, 2016

2) MP's can develop 2 or more model village by 2019
3) Covering over 2,500 villages in India

4) None of these

MPSC IISI%T qg URI&T : 2039 & TRI&Tm 9uR-9 / 9%



3R)

39)

qeieteh! ivrd /at faem /= sRieR 3R /a2

a) IMERT IS AR e 09Y AL FH PRUIN 3T,

b) TSI 9 { T — 98 I¥ SHAFTAT HfHep /AR TR GCePT heledl AT TS
yfererr et ST

¢) TSI JTBbT Dheled] Gl UIGIde oot S

Tt S :

9) (a) Hh ?) (b) Heh 3) (a) 3T (b) Beh  §) a¥IcT He

Which of the following statement/s is/are correct ?

a) National child labour project was launched in 2015.

b) It provides vocational training to children rescused from work force in the age group of 9-14
years.

c¢) Itgives stipend to rescued children.

Answer Optins :
1) (a) only 2) (b) only 3) (a) and (b) only 4) All of them

go)

40)

geid faum foare =i

a) JTEIT 37 JRE& I w09—200¢ HL FH PO 3ATa.

b) Tiges, e ATMOT S[edt AT IeTe ATeiavr &1 Tl &l e

ggfft S :

9) Heh (a) TRIR 3T R) Fh (b) RIR IT.

3) (a) 3T (b) 21 SRS 3TeeT. 8) (a) 37T (b) SIEl I TR

Consider the following statements :

a) National Food Security Mission (NFSM) was launched in 2007-2008.

b) It aims at increasing production of rice, wheat and pulses.

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) both (a) and (b) are correct 4) both (a) and (b) are incorrect

$9)

41)

"AARET AR It (ISA)” 96T Wietietih! Do T sRIsR AT8 2

q) It 929 AR AT WG < M.

Q) € | I FHhaa MMMV fAyagemed 19T g qut FHIfde 3fme.

3) YRAT GauUT ST ST JIRTee A HhUNl et g heft Bl
8) AT 30 AlGeR 109y Alell URA A F& el e,

Which of the following statement is not correct about international Solar Alliance (ISA) ?
1) The Alliance is of 121 solar-resource rich countrie.

2) All of these countries, lying fully or partially between Tropic of Cancer and Equator.
3) The alliance was jointly launched by PM of India and President of France.

4) The alliance was launched on 30th November 2015 at Paris.
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¥2) HUMHA! S U AT IS o et e,
a) ot Ta@em  b) o<l drerar ¢) fo=ame Bag d) die famr
i SR :
9) (a) @ (b) Bh ) (b) T (c) ®h
3) (a), (b) T (c) B 8) (b), (c)  (d) h
42) Pradhan Mantri Jan Dhan Yojana (PMJDY) envisages :
a) Financial inclusion b) Financial Literacy ~ ¢) Insurance cover d) Crop insurance
Answer Options :
1) (a) and (b) only 2) (b) and (c) only
3) (a), (b) and (c) only 4) (b), (c) and (d) only
¥3) ¥ R09¢ T HRAMEI SDG e g qeffadr ¢

43)

a) TRATAT IRRRY S2md Yo TR
b) HERTE Y g IMTETSIAT TTeTd AHIfAE 37Te.
¢) SR UM AT FHA "I’ T Terd gial.

IR S
9) Heh (a) SIS ) Beh (b) TRISR
3) h (a) 3T (b) SRR ¥) Heh (b) 31T (c) SRR

The 2018 SDG India index indicates :

a) Average index for India a 57.

b) State of Maharashtra is infront runner category.
c) Uttar Pradesh Falls in the best category.

Answer Options :
1) Only (a) is correct 2) only (b)is correct
3) only (a) and (b) are correct 4) only (b) and (c) are correct
88) HRA-3MREDT SR HiWT SFGH’ IUhH PIora adf g (Launch) PROATT 37T 2
9) Q008% Q) Q000 3) 008 ¥) o0Yy
44)  In which year, the 'Indo-US Dollar Matching Grant' project was launched ?
1) 2004 2) 2000 3) 2009 4) 2005
8Y) XdTetlerdd PIv fAum/faum g 3R/ 3TmRd ?
a) faRME Sra@Uld Sam=ar AMRSH! I Peted! I d AaT THUT Yerrdiel Jedl Fgurel
e MER IS (GNP) 8.
b) ITHTAT AT HAT ST ST IedTied 2rdl, IR WReelt AMRBHT U6 gidl. rm qHmae
T MR IATGATT (GNP) el ST,
) ufcy ARl S g @it b HiHid S geffad.
i SR :
q) (a) 37T (b) R) (a) 3T (c)
3) (b) 3T (c) ) oIl el fau™ SRR 3fme.
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45)

Which of the following statement/s is/are incorrect ?

a) GNP is the total money value of goods and services produced by the nationals during the
given year.

b) The part of income produced in the country but earned by foreigners is included in GNP

c¢) Per capita income shows the marginal income of the people in the country.

Answer Optins :

1) (a) and (b) 2) (a)and (¢)

3) (b) and (c) 4) All the three above are correct
ge) SiedT o :

Te - 37 (3nfefe gemRom) Te-9 (Sfese)

a) faggiaor i) PpreaT e ST

b) 7T ST PrIaT i) Wi gor FspIRId ot

¢) RarsERt Brar iiil) STIGTT e eretenxor

d) 3MYUR P iv) FRITT TReAAT Yafeld pror

qRft SR :

46)

@ b © @
) Gv G @6
)@ O Gv) )
3) @ O ) G
8) @ @) G @)

Match the following :

Group - A (Economic Reforms) Group - B (Objectives)

a) Demonetisation 1) Checking black money

b) New Benami Law ii) Removing fake currency

c¢) Bankruptcy Law iii) Rationalising Subsidies

d) Aadhar Act iv) Promoting case of doing business

Answer Options :

@ b © @
D vy @ @ @
2) @ @O (v @@
3 @ O @@ @)
4 0 @ @ G)

80)

IS Fe®ral IIGTIER (59 T UGd!) ARl CehaRid alNgd NETeiel
AP TRIHTT ETeiielieh! PIuraT /P T aRIER 38/ 37med ?

a) 98¢3-¢y Tey Ui whmchiel SIRGT 8%.€ <& 3db &l

b) 9%%3-%% HEY 3§.0 Teh CHPRRET SINGH e gie.

) 9%%0-%9 A 3Y.0 TH ADEIT & TN IR W@Teft g,

d) 9%¢9—¢¢ AT RA TRUT 30.0 T AT QNG ST giel.
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il SR :
1) (@ 3T () ) (b) MM (d) 3) (a) AT (b) 8) (c) Heh
47)  According to the Planning Commission's Estimates (Expert Group Methodology) about percentage
of population below the poverty line population, which option/options of the following is/are
correct?
a) In 1983-84, Rural area poverty was 46.6 percent.
b) 36.0 percent of the population was below the poverty line in 1993-94.
¢) 35.0 percent of the population in Urban area was below the poverty line in 1990-91.
d) In India, 37.0 percent of the total population was below the poverty line in 1987-88.

Answer Options :
1) (a) and (¢) 2) (b) and (d) 3) (a) abd (b) 4) (c) only

g¢) Welld faum faare &
a) MR S SmanT ST freft SR SIFaRt 209y IR Bdet 3T,
b) THEIUIG ¥UH (Acie) e g fordt smanme aniesfe dwm aTe.
g IR :
9) (a) Peh SRISK ?) (b) Bth RIS
3) (a) SN (b) SRl SRR 8) (a) 3T (b) SIeT I

48) Consider the following statements :
a) Planning Commission of India was replaced by NITI Aayog in January, 2015.
b) Normative Planning is a guiding principle of NITI Aayog.

Answer Options :
1) (a) only is correct 2) (b) only is correct
3) both (a) and (b) are correct 4) both (a) and (b) are incorrect

¥Q) Wrefter faur™ feraRra &
a) AT faepRT fdees &1 SR, fererr arfor Jgufim e g fcere 3.
b) IEVHT AISHY g SRels e ST ST Tl 3MUR dhet ST,
gy IR :
9) (a) Feh SRIER IMTR. ?) (b) Tth aRIsR 3MR.
3) (a) AT (b) SIRIE! ARISR AT, 8) (a) 3TN (a) QR TP AT,

49) Consider the following statements :
a) HDI is a composite index of health, education and standard of living
b) The standard of living is measured by GDP per capita.

Answer Options :
1) (a) only is correct 2) (b) only is correct
3) (a) and (b) both are correct 4) (a) and (b) both are incorrect
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40)

50)

GATT (SFRet 3ffiHe o1 g8 3fve cRew) Heurd gl faum R =

a) e (GATT) f} TIuAT 9%%¢ TedT e,

b) FATHAT BIeI e (GATT) T 3 3 ASHT Bldl.

¢) WTO 7€ (GATT) T U& HHR STIRIUBRI 3TE.

d) fouela 9 Tguellar MUR PRRE ‘e’ g JARF aRal.

IR PO fe /U™ aRER 3R/ 3med ?

q) (a) 3T (d) R) (@), (b) MMM (d)  3) (a). (b) MMM () ) AR T
Consider the following statements with reference to GATT agreement (General Agreement on
Trade and Tariffs).

a) GATT was established in 1948

b) Initially, the total number of members of GATT was 23 countries.

c¢) In away WTO is the successor of GATT.

d) GATT administers all bilateral and multilateral Trade agreements.

Which of the above statement/s is/are correct?
1) (a) and (d) 2) (a), (b) and (d) 3) (a), (b) and (c) 4) All of the above

49)

51)

@reilel foummET fJaR &«

a) T Ul S7UET SOl JraHed Ble—98 o Be- 9 ITd UITR JGerd 3.
b) fPRINARY BET- 9y THLRAHETT aTOR BT FTHIATTER HRAT.

gt SeR :

9) fIer (a) I 3R 3T (b) farermreh HRUfEERT o

?) (a) 3TN (b) SIEI fAUm T 3.

3) (a) four T 3R O (b) Th M.

) (a) 31T (b) THAHEN FERIT A&l

Consider the following statements :

a) The ratio of *C to '>C changes continuously for dead bodies or plants.
b) Radioactive isotope Carbon-14 is used in a Carbon dating technique.
Answer Options :

1) Statement (a) is true and is a reason of (b)

2) Both (a) and (b) are not true

3) (a) is true but (b) is false

4) (a) and (b) are not related to each other
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42) geiel fauHmEr faR & :

a) SXEAR SUYEHT el GeafeaT eflell ATIETul g SR
b) U Al SUIE glaRle AU fRRR 377 31 dTed.
TR I

q) It fau™ g@ 3.

Q) (a) UM SRIER 31fOr T (b) ot BROMEHERT 3TR.

3) (a) o™ SRR 31for O (b) <t HRUEHERT A=

8) (a) IR RY (b) TP e

52) Consider the following statements :
a) The speed of telecommunication satellite relative to earth is zero
b) Hence it appears to be stationary to a person on the earth.
Answer Options :
1) Both statements are false 2) (a) is true and is reason of (b)
3) (a) is true and is not a reason of (b) 4) (a) is correct, (b) is not
43) fefcara sruRrss 92.4 av oRIT QT dier R ey grarr. Y auiHRR qe fefeawma
febelt afer arer fargep RTgiet 2
9) o () 3) 0.y 3) 0.3Y 8) 0.9y
53) Tritium has a half-life of 12.5 years, undergoing beta decay. What fraction of original Tritium will
remain undecayed after 25 years?
1) 0 (zero) 2)0.5 3)0.25 4)0.125
yy) Sicgl Q@RI Lt R HdieT ge Rfcfier 3l degl &re Ufdfefed w9 7 :
9) 9¢o IFATT (Tv) AAT AT Blgel.
R) ITRAT I8¢ VR T
3) Ro A (TT/) ST fRer Blga.
¥) foRe BlgeT UUT ST ISAUIR Ta).
54) When a compression of sound waves is incident on rigid wall, it is reflected as :
1) Compression with a phase change of 7 (by 180°)
2) Compression with no phase change
3) Rarefaction with a phase change of 7t/2 (by 90°)
4) Rarefaction with no phase change
YY) UTFRFTAT ML HiTpciiad WietieTdeh! PIur IO FTIRYU! FHSIAN ?

9) QRIS T

R) TSI 30T Ugueh!

3) gergE, el sl =g sl T
) STUR fRURAT

MPSC ISI%dT qg URI&T : 2039 g U1 uR-9 / R



55)

Which of the following properties of atom could be explained correctly by Tompson Model of
atom?

1) Overall neutrality of atom

2) Spectra of hydrogen atom

3) Position of electrons, protons and neutrons in atom

4) Stability of atom

4g) 3oo dcd T YaTs WM U 9 T Fletdel S, SR Uel IFedT &R 2. 3.00 3R,
R A AR Q7 eI aReted forer @d ot ?
9) ¥. VR.00 Q) 9. 39.00 3) 9. .00 ¥) B. V.R0

56) A washing machine rated 300 watt is operated for one hour/day. If the cost of once unit is Rs.
3.00, what will be the cost of the energy to operate a washing machine for the month of March?
1) Rs. 279.00 2)Rs. 31.00 3)Rs. 27.00 4)Rs. 27.90

YY) WreATeAdDT ... P TR feifiies SHAIGR T WIS ST WP GRIGR TST
BT ST
9) T ?) clariT 3) W 8) AR

57) ... is an Artifical method of Asexual Reproduction, used to produce plants, combining desired
stem with favourable Root Characteristic.
1) Budding 2) Layering 3) Cutting 4) Grafting

Y¢) 'FET SIRIfD UTdedlaR T SO DI Uclied Gefrdt Hdl SERIA dIeed] JH1uN
R faue =1 Fdefier d9rer STmaaR MuTRa R I te " akier femran’”
9) HerFed iR SIS a U (Sl fehanefiel sfifadsi sTmTS

RO &) PRIGHT 3.

R) pAHe IR TR YO 3R,
3) Gol 3TPND SRIT IRAIVN Hfshdd HeRY AT,
8) Pol Heward] Stiga g @it (FARed) i 37Te.

58) '"Currently there is increased demand for fresh and good quality flowers for human consumption

worldwide".

The above statement is based on the following potential values of flowers. Which one is not

appropriate with the context of above statement.

1) Flowers are endowed with natural antioxidants and scavenging activity of reactive oxygen
radicals.

2) Flowers are rich source of Anthocyanins.

3) Flowers are attractive and help in pollination mechanism.

4) Flowers are important source of vitamins and minerals.
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4R) ARG ITT NS ST Tl

59)

a) HYET T AR FTE
b) FCRTHRR
c) STgRIE /GHABURT 3R
d) CYO1NIL*C:],{|CDIG§"<'I
Tt S :
@ ® © @
) G G (@ 6
)Gy (@) G 6
3) G v (@ 0
8) @) @) G 0

Match the following with correct options.

a) Inexhaustible resources
b) Stratosphere
¢) None-renewable resources
d) Chlorofluorocarbons
Answer Options :

@ m © @
D v @ @ @
2) ) @ @ @
3) @@ v @ @
4 @ @ @ @

i) AFaa Hr
ii) SfiaTed SeF S pleedT, Ueiel
iii) IR Sott

iv) 3NN=T e R

1) Anthropogenic activities

i1) Fossil fuels like coal and petrol
iii) Solar Energy

iv) Rich layer of Ozone

§o)

wteronefy Hefda FferRaa air Streem &,

a) TRAERIIR
b) forenhiaR
) TISRHISR
d) 3fcHRTHRR
g IR :

@ ®m © @
1) G @ G G
) Gv) G (@ @
3) G @) G (i)
8) @) G Gv) @

i) 7gNIR, 94qg, e, do S.

ii) e, wft, gerila 3.

iiii) gedfieaT AHIGdTr, aR] STTaRul
iv) gl B (Wgehrar) uch
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60) Inrelation to Environment match the following.

a) Biosphere 1) Oceans, Seas, River, Lakes etc.

b) Lithosphere i1) Plants, Animals, Microbes etc.

¢) Hydrosphere ii1) Thick gaseous cover surrounding the Earth
d) Atmosphere iv) Solid Component of Earth

Answer Options :

@ ®m © @@
D @ @ O @)
2) (v @ @ @
3 @ @ O @)
4 @ @ @ O

£9) WIeleTidh! DIV MSIF WT/MNR ' fesft fe=ft’” et araeamgss gt ?

q) AT Ry Q) fagh ateft 3) Pl AR g) IR, I
61) Which of the following Protozoan disease is transmitted by bite of tse tse fly?

1) Sleeping sickness ~ 2) Delhi boli 3) Kala azar 4) Chaga's disease
&) PIRIPI HAHLH qUH Bl el ?

q) T b ?) waH 3) NG &P 8) el favat
62) The cell was first time described by ......

1) Lamarck 2) Schwann 3) Robert Hooke 4) Rudolf Virchow
£3) Wella SiiedT Sesal (A gaig fae)

a) IRTered i) 3N STHdh

b) fIshRed i) STATHRATAT STeh

¢) fewdishes iii) IR SIeh

d) IR M Hed iv) STIIemeT= S-eh

qgfft W :

@ b © @
9 @ O G ()
)G @ G 6
3) Gv G @ G

8) @ G Gv) (i)
63) Match the following (use correct codes) :

a) Aristotal 1) Father of Medicine
b) Theophrastus i1) Father of Genetics
¢) Hippocrates iil) Father of Botany

d) Gregor Johann Mendel iv) Father of Biology

MPSC ISIRdT qg URI&T : 2039 & URI&T quR-9 / Y



Answer Options :

@ ®m © @@
H @ O G @
2) @ @ @) O
3 (v @ @O @
4 O @ @) @)

£8) Wleflofddh! Il faum /faum ' 'IRPHR’ Ject [ 3R/ 3 ?
a) TRPHIR g PIUITE A TS 3.
b) O IADRI AT 3T fehareHes prItam 9Nt 31ed.
gt SR :
9) (a) Hh Q) (b) Hh
3) (a) AT (b) ST 8) aXIeAhT PO
ATl
64) Which of the following statement/s is/are true for sarcomere?
Answer Options :
1) Only (a) 2) Only (b)
3) Both (a) and (b) 4) None of the above
&Y) ISR MU, Uefid ST Sefld K+ STt Sge ... 3ATOT Na* ST gl ...
3.
9) I, 3Aftrn Q) PHI, PH! 3) a1ftrep, el Q) 3, 3ifn
65) In vertibrates, inside the cells and tissues, thereis a ...... concentration of K*ions and ......
concentration of Na*ions.
1) Low, High 2) Low, Low 3) High, Low 4) High, High
&) IS gerd fAR[aTHe 91 U7 3R, Siegl STHfhdl Heh Soll 96l &l ... 3R,

9 >0 Q) <0
3) =0 ) Teh ol gcel AT [IGRHD Tl FaY ral

66) The EMF of a chemical cell is positive, when the free energy change of the reactionis ......
1)>0 2)<0
3)=0 4) No relationship between the free energy change and EMF

£1) gTefleTidh! PIUT INARITD ITTITHAT SATfRATSHRUI—&TUT T ThRIT Aledid ?
a) 2Mg + O, — 2MgO b) MnO, + 4HCl — MnCl, + 2H,0 + Cl,
¢) 2Na + ClI, — 2NaCl d) 2NaBr + H,0, — 2 NaOH + Br,
Tt R :
) B (@), (d) Q) FD (D), (©) 3) Hh (a), (b) 8) e w4
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67) Which of the following are Oxidation-reduction reactions?

a) 2Mg + O, — 2MgO b) MnO, + 4HCI — MnCl, + 2H,0 + Cl,
¢) 2Na + Cl, — 2NaCl d) 2NaBr + H,O, — 2 NaOH + Br,
Answer Options :
1) Only (a), (d) 2) Only (b), (c) 3) Only (a), (b) 4) All of the above
&€¢) Colegel [Ni(CO),] s /Sifeel (complex) H& fasTs getagial & ... IR,
9) o ) 9 3) %) 3
68) The number of unpaired electrons in tetrahedral [Ni(CO), | complex s ......
HOo 2)1 3)2 4)3
&R) Wrellelddh! HIURT exfUHISS FHSTe! ST ?
9) ek HeTe ) eh 3 ST
3) aIel, Hellel S &1 Sfeiera 8) arerel el
69) Which of the following is/are terpenoid/s?
1) Only menthol 2) Only Vitamin A
3) Both menthol as well as Vitamin A 4) Neither menthol nor Vitamin A

Yo) IMYfTeh STacRIRUICT UL BT &1 STl JuTe fraRTd ST Wietlefteh! Piort faem
TR 3T ?

a) T @Il STAHT dTed. b) T @refl ST 4T gl
c) STeihg IoTdIehs SIIAMT ared. d) Srefierg Iordichs ST HHT &I,
Tt S
) (a), (d) R) (), () 3) (b),(d) 8) (b), (c)
70) Inmodern periodic table, which of the following statements about atomic radius are true?
a) Increases from top to bottom b) Decreases from top to bottom
¢) Increases from left to right d) Decreases from left to right
Answer Options :
1) (a), (d) 2) (a), (c) 3) (b), (d) 4) (b), (¢)

va) FET TR AT Wrefletdl HIu e SRR Mg ?

q) T TS FRAT IR AT U T Hifedl! SMeh ST Ira Ual SR AT8id 3l
gt 3TRch SR,

Q) I Il 3TRIch MYy HIfEelt omgeh Irdt HUh TRl reaiiRdTeltel Aftriea
farpRefaeT IFUMNGR Peft 1.

3) T 3Tt U5 U Ay fhar gt wo ¥ guf BIEUAT URUT dRaT.

8) A GAFRIERIRT O AT 9T Hifeed! SRGE © gl Hifeell geh U AHUhRT U
SR, WY I AT SRS UG HIATaLg Thul U Jufue SR Bl Ug URul
P e TRl
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71)  Which of the following statements regarding Central Information Commission is correct?

1) Itis aconstitutional body includes one Chief Information Commissioner and not more than
Five Information Commissioners (ICs).

2) The CIC and ICs are appointed by the President on the recommendation of committee headed
by the Home Minister.

3) They hold office for a term of 5 years or until they attain the age of 70 years.

4) They are not eligibl for reappointment, but Information Commissioner is eligible for appointment
as Chief Information Commissioner but cannot hold office for more than a total of five years
including his term as information Commissioner.

©R) HRHe® AREAITAT (Cabinet Secretariant) TSI YdTeilelddh! DI fIEm I 3med ?

a) d 3.9, 940 &I TATIT HRUATT 3fTet.

b) I GAYUTHAT ANTGMRATeA! B e,

¢) O N§T HEeH (Line agency) 3TR.

d) T g TRPRAY T FHIP gUT PRI Dl

TRt SR :

D @3 (Dd) Q) (@, O ()  3) (b) M (d) 8) (a), (c) 37T (d)
72)  Which of the following statements are true about the Cabinet Secretariat?

a) It came into existence in 1950

b) It operates under the direction of Prime Minister.

c¢)ItisaLine agency.

d) It functions as the Chief coordinating agency in the Central Government.

Answer Options :

1) (a) and (b) 2) (a), (b) and (c) 3) (b) and (d) 4) (a), (c) and (d)

©3) WTelledh! PHIuI I & AR MAR-IoT IRYCTT BRI dTselelt Mg ?

9) AT-ISIHR o T I IF¥cleT T ST IhT PRul T TR AT <.

Q) PIVTE! SRS TSI IO AR, a1y fdha fRi0T JTeTecreaT hIuTe! JeaTT
IO PRAT RIS PRUL.

3) ATl Fatar fihar wreraT AT HY—IT g Tt fohar 31fHies Iy IiaT SATT FHISH
fedsiaer 3R 312 fASITETEd SFayur ahxol 3T ==t o,

) 19T PIvrATE! fowaTeR farpRef Sfor fFord: <1 fawareTeda giRvr 3nfor BRae T
IR INAT TPR T AIoITHRAT frmrefy w=o.

73)  Which one of the following matters stands excluded from the jurisdiction of Inter-state council in

India?

1) Enquiring into and advice upon disputer which may have arise between the states.

2) Adjudication of any dispute with respect to the use, distribution or control of water of any
inter-state river.

3) Investigation and discussion of subjects in which some or all of the states or the Union and one
or more states, have common interest.

4) Making recommendation on any such subject and in particular, recommendations for the
better coordination of policy ad action with respect to that subject.
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V%)

74)

I REITE] AT g AU PRUITSTE GTetierdeh] HIurT ey Jehram Mg ?
9) off ehl IRArAT Wfie ST ggT 9y =R IR T UTfee.

Q) T Afhd ST NI <81 Y dfcholl dholell 3RTei! UTfg.

3) FUCT 7a o @chl AT BRIGHST 3RTel! dTfer.

8) T Tpg) AT

Which of the following has been wrongly listed as criteria for appointment as a judge of the High
Court?

1) He must have been held a judicial office in the territory of India for ten years.

2) He must have been an advocate of a High Court for ten years.

3) He must, in the opinion of the President, be a distinguished jurist.

4) None of the above

9Y)

75)

el PIorT SedT O R Sgesd A ?

a) A&l JE — IS, AASIh ST HEwdTed dldles HTd e JYul.

b) YNH U ~ FUNE od (de) FuudTgdl FAfT &,

c) THWI UM — JHNEIE SRIATE! STegl HHDIST Ygared] MR Ted T4
TR e THITD A&l Jeo.

d) ERepdil qeT ~ T et gdhtear /rgut STRTes HHTUda e Jgro,

qgfft S :

1) (a), (b) ?) (a), (¢) 3) (b), (c), (d) 8) (a),(d)

Which of the following pairs are not correctly matched?

a) Calling attentio Motion - To draw attention of the Minister on matters of urgent public
importance.

b) Adjournment Motion - To adjourn the House before the expiry of the time.

¢) Privilege Motion - To draw attention of the Speaker towards when the proceedings of
the House do not follow rules of procedure.

d) Point of Order - To draw attention of the Speaker towards incorrect/incomplete
answer bya Minister.

Answer Options :

1) (a), (b) 2) (a), () 3) (b), (©), (d) 4) (a), (d)

V&)

76)

RMAThgA ATefdedr ST fohar I3 Ml e fiesd sRiciedr Piuarg! Aerirs
T PIVIATE! ARTRDBRT hefes U, G, ST, HIST T fehaT AThT PIUIATET PRI T2l
ABREAT STUR AT . & RIS TR ITESAAT Wletlerdh! HIoeT SFesard 3R ?
9) 30 Q) 98 3) ¢ 8) R

'No citizen shall be denied admission into any educational institution maintained by the state or
receiving aid out of state funds on grounds only of religion, race, caste, language or any of them.'

This provision is contained in which of the following articles of the Indian Constitution?
1)30 2) 16 3)28 4)29
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VoY)

77)

AHIIT T AT AR @refler e faarma &,

a) I/ fa 9o anfor w1 yRdrea s iR iRa Pt 9.

b) R/ foretm 9= 7 favmmht ey 9q <dr a9 8.

¢) IR /T FHWETT goR RTET HAQH HRUMRT RATeAT SgAd AR AT RTETSIN

TGTERe R PRl .
d) IR/ TR SY-UdUUTNET aRY 3R,
R YD PO TRIeR MM ?
) @, 0,0 ) b)) 3) (a) 3T (b) 8) et 79
Consider the following statements regarding the position of the Speaker of Lok Sabha.
a) His/her salary and allowances are charged on the Consolidated Fund of India.
b) He/she has no vote except in case of a tie.
¢) He/she can be removed by a resolution passed by a majority of the members present and
voting in the house.
d) He/she has a higher rank than Deputy Prime Minister
Which of the above statements are correct?
1) (a), (b), () 2) (b), (¢), (d) 3) (a) and (b) 4) All above

v¢)

78)

@refiel faym R &1 st g sy fFasr.

a) YRAK, AT ORI A8 hass IFAATAT Jd—-URaTFI FAGHR Hisel Sig 2.

b) MNP T Tl Tovci A - Hed Jrodredn faftresigR AT
[ECNRCICRREC T

¢) fslele HE ITECTHR detel] 951 AIGHATIT dcid HeITRIEART AT A, 2T

AT,

d) SRIeTITd, TGS TGt paed Qlrel AHFEH! beied] BRISTGR BT I,

Tt} ST :

1) @, (b)) ) ®).).@ 3) Wh (a) ST (b)  8) Teh (c) M (d)

Consider the following statements and choose the correct code.

a) Inindia, a constitutional amendment bill can be introduced in the parliament only with the prior
permission of the President.

b) InU.S.A., every constitutional amendment must be ratified by at least two-thirds of the state
legislature.

¢) InSwitzeland, no alternation of the constitution can be effected without resorting to areferendum.

d) InAustralia, the constitution can be altered only by an Act passed by an absolute majority in
both houses.

Answer Options :
1) (a), (b), (c) 2) (b), (¢), (d) 3) Only (a) and (b) 4) Only (c) and (d)
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OR)

79)

Geflettieh! P o™ /3 I g/ ?

a) ITECTI AFBT—-999 ¢ 31 fTUTHAT (money bills) TRIIT HSHIT 3.

b) JTBE-990(3) Wieht Avfieg HMetel fd fA9Te (financial bills) ¥ Haes FATBIHALIT
qTScl ST 2Mehd.

¢) ITBE-990(q) WTeh Suflag et f AT (financial bills) ITSIRTHT SRAF 37erdT
o] PR e TRl

TR I

q) Bh (a) R) (b) 3T (c)

3) ATl Tepgl el 8) W (c)

Which of the following statements is/are correct?

a) Article-111 of the constitution deals with the definition of money bills.

b) Abill categorised as financial bill under Article-117(3) can be introduced only in the Lok
Sabha.

c) Abill categorised as financial bill under Article-117(1) cannot be rejected or amended by the
Rijya Sabha.

Answer Options :

1) Only (a) 2) (b) and (¢)

3) None of the above 4) Only (c)

¢o)

80)

Tefler faermite! BIvR e RIsR gl ?

9) IS 00 I ISIUTe (IO IFUTeAT R} IRGT 39 b

R) IEuch g gAfdaRMTS g fresiane URd UISfIvaRT IsauTeTT e <g g

3) SR d faUTe ISARIRIHSHI I8 SoRi|g 3ial SOl 211 HoR & gl RI§Uciichs
AR hedTd N HolX! QU JFAAIaR JUTHRD .

8) ST I faaRTe IRGT Sdeted] [AUIHrT Tpucie faelt dleadiFe Fofg
BITGT A ISTEe DIV Plemie] Gidera e,

Which one of the following statements is not correct?

1) Under Article 200, the Governor may reserve the bill for the consideration of the President

2) President may direct the Governor to return the bill for the reconsideration of the State
Legislature.

3) Ifthe bill is passed again by the State legislature with or without amendments and presented
again to the President for his assent, the President is bound to give his assent to the bill.

4) The constitution has not prescribed any time limit within which the President has to take
decision with regard to a bill reserved by Governor for his consideration.
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¢q) "'faawfiieR At deuld @refierdd! HIud e sRIeR A8l ?
9) SAPIHAT FRIH-2 3T o= FR-9¢w g o rrsed} smed.
) APANT 94 IS 3RTeiel! fAARieR It & Fumud) A exa.
3) STFAT JUTETE T fAAWIUPR AT THRE SRIATT ST AT 94 e SR
8) TRITUDT The! el
81)  Which one of the following statements about 'Privilege Committee' is not correct?
1) Rule No. 222 of the Lok Sabha and 187 of the Rajya Sabha governs privilege.
2) Inthe Lok Sabha, the Speaker nominates a Committee of Privileges consisting of 15 members.
3) Inthe Rajya Sabha, the Deputy Chairperson heads the Committee of Privileges, that consists
of 15 members.
4) None of the above.
¢R) el TRgal feaRIa &,
a) ANTIPR g g IRITIRS 3N
b) PRI fummf & geh IS T e AR hell 3Te.
¢) FUC! Teh I fqUepiar e (Fquf) THRIRIBR dmoRdrd.
d) g AT & ISITAT FHANGAT I5ara Ara, JH1 3nfor 3 98T B el
RIAUDT DIVT TG/ TG THAT TR HRANT ISTEEHT & 3 FERSATHD IquTat
el et ?
) th (a) R) (@), (c) MU (d)  3) (b), (c) M (d) @) aIeT &
82) Consider the following provisions.
a) The residuary powers have been left with the centre.
b) The powers divided between states and the central government.
c) President enjoys absolute veto over state bills.
d) The Union can change the name, area and boundary of a state without its consent.
1) (a) only 2) (a), (¢) and (d) 3) (b), (¢) and (d) 4) All above
€3) i a1 AR ‘=i Afhaden’ e e,
a) VicgT faftries el SEINERY UR UISUdTd 3Rl BT,
b) YT (Hung) fAfrie® ST TRPR 8 BRT HHAPAT d SRR 3R,
¢) STegl ARPR ARRBIAT YT AfUPRIT A& PRI el 3.
d) STegT TERe U8l AT SRy IfEEIST FRITeTIrd SOudnT .
T S :
) (), (b), (c) R) (b), (c), (d) 3) Nt wd 8) Wb (b) 3NN (c)
83) The situations that leads to 'Judicial Activism' are :

a) When the legislatures fails to discharge its responsibilities.

b) In case of hung legislature where the government is very weak and instable.
¢) When the government fail to protect the basic rights of he citizens.

d) When the party in power misuses the courts of law for ulterior motives.
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Answer Options :
1) (a), (b), (¢) 2) (b), (¢), (d) 3) All above 4) Only (b) and (c)

¢8) Wellaud! P e sRisR A1 ?
9) Irguche ReRrefiREarr 7dia g Hfifd Adue SRacer sumE SR wiset
SICERISINH
Q) AP 3 faerres F¥iad AisvaTgdl fAfRre dreative Feftid I fAftresm s
EENEISERIRICINCICE RIS
3) TG e 4 TEHAH DRIGT HOR P T Iy TAT P b,
) Iy fIftrTge™ eh dolel faaR (9d) fRRPRUIR §U7 FEeay R
84) Which one of the following statements is not correct?
1) No bills for the formation of new state shall be introduced in either house of Parliament except
on the recommendation of the President.
2) The President before introducing the bill in the Parliament shall refer it to the concerned State
Legislature for its views within a specified time limit.
3) Parliament can form a new state only by a law passed by a special majority.
4) The Parliament is not bound to accept the views (opinion) of the State Legislature.
¢Y) ET FIb YR FEd Wiellel U™ feaR =1,
a) ENI A URUITET FaUeH RIBR 9¢ e HE HRugmT AT,
b) 003 AHiie URVIGAR ATl RAT 9Y4-3Y FANCKiIer ch! 3Heft el e,
¢) 098 HHIe YRUIGAR JIbral JANCRT ARAT 94-3% an 3feft Pefl 311,
TRIUD! PO fAUT /T R 31 /T 2
9) Bh (a) R) (a) 3T (b) 3) (b) 30T (c) 8) Wb (c)
85) Consider the following statements about 'National Youth Policy.’
a) The First National Youth Policy was adopted in 1986.
b) In the 2003 policy, "Youth' was defined as a person of age between 15-35.
c) In the 2014 policy, the youth age-group is defined as 15-29 years.
Which of the statements given above is/are correct?
1) Only (a) 2) (a) and (b) 3) (b) and (c) 4) Only (c)
CE) Wrefter P AeTd &

a) fodeR 090 TEd ROl IIETETE T e TTAT T BEER ST Ul
ITeA 3Tt

b) HIFITT BETER FCRTeA] BB HRATGR el BRUAT 3TTetl. HHT ST TR
R U & WRAr ufgell d% .

RIAUDT Pl /T AU/ SRR 3med ?

) Tth (a) R) ®h (b)

3) (@) 3T (b) Q=Y 8) (a) 3 (b) St e
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86) Consider the following statements :

a) The first phase of the Chabahar Port was inaugurated in Decemebr 2017 by Iranian President
Hassan Rouhani

b) India has taken over operations of the strategic Chabahar Port. This is the first time India will
be operating a port outside its territory.

Which is/are the above incorrect statement/s?

1) Only (a) 2) Only (b)

3) Both (a) and (b) 4) Neither (a) nor (b)

Q) Wiellatd! WuraT Afeiaedid 09 HEY HIUdT Hewaral ol 8 el ?
9) Fedldd YTRUITITS! IS 7ed STvamEn SifidR. ) HagHmT IMfIBR

3) PearcAl HleTHTT 3UBR ) HCERICHT 3AfRIDPR
87) Which of the following decisions were taken with reference to Iranian Women in 2019?

1) Right to watch football in stadium 2) Right to vote

3) Right to own family property 4) Right to Divorce

¢¢) TR HYF /A Mwwdl — (Y aT foxd R 919 -
a) U, &. R 3 STRINTR Qreyer 31

b) 3R AgdT ¢ AN T 37TRe.

c) S WW%WWW

g feft SN

9) % (a) Q) Wh (a) 3T (b)
3) Weh (b) 37N (c) 8) W (c)

88) Select the correct statement/s (Regarding 15" Finance Commission) :
a) N. K. Singh is the Chairman of Commission.
b) Arvind Mehta is the Member of Commission.
c¢) Dr. Anoop Singh is the Secretary of Commission.
Answer Options :
1) Only (a) 2) Only (a) and (b)
3) Only (b) and (c) 4) Only (c)

¢R) 3 et fawft aw faem amer.
a) ¢ U SWIIcatld UrasiTes! Siflel 31Te.
b) AT ST Ydell 3clicd TG ITE.
¢) IT ST SPSRAT 0% U TIAT 3MTR.
d) IT ST b1, SIHIH MU Sofep FhIA™ 3T,
Tt ST :
) (@), (b), (c), (d) R) (a), (b), (c) 3) (), () 8) (), (b), (d)

MPSC IISIRIaT gd URI&T : 2039 g U1 UiR-9 / 3%



89)

Find the correct statements about Amazon forests.

a) Itis tropical rain forest.

b) It has Atlantic Ocean at its east side.

¢) It occupies 40% of Ecuador's total area.

d) It is home of Macaws, Toucans and Black Skimmers.

Answer Options :
1) (), (b), (), (d)  2)(a), (b), (c) 3) (a), (d) 4) (), (b), (d)
Ro) DIV AR MG 09 AEd NARIFI ge-fod UTd datt ?
a) Py TG b) AlgHg ot ¢) ST IRTE d) fdg Steom
gt SR :
) (a), (b), (c) R) (b), (¢), (d) 3) (a), (b), (d) 8) (a), (c), (d)
90) Which Indian bolwers to pick up an International hat-trick in 2019?
a) Kuldeep Yadav ~ b) Mohammed Shami  ¢) Jasprit Bumrah d) Ravidra Jadeja
Answer Options :
1) (a), (b), (c) 2) (b), (¢), (d) 3) (), (b), (d) 4) (), (c), (d)
Rq) WRATAT MHIM Hifen faw=h s/ fqum ane.
a) I TS YR ga18 A0edn IR dHif=iepid! a8 3iaRTed R iSRS hruard
3Tt TR,
b) T HfeTeor AT I T TR BT HR IY IR 3T
¢) T A SO G 209y 7Y et Bl
d) I RIS 2033 IS UTE AeT™ I U AfgT SieRIId el aRed JRITS! ShRudTd
3MTel 3R,
i SR :
1) (a), (), (¢), (d) ) (b),(c), (d) 3) (), (@) 8) (b), (c)
91) Find the incorrect statements about Gaganyaan Mission of India.
a) Four pilots from Indian Air Force were short listed to be astronauts of Gaganyaan.
b) They will be trained at Yuri Gagarin Cosmonaut Centre in Russia.
c¢) This mission was announced by Prime Minister in 2014
d) It is scheduled for 2022 with team of 5 crew members and a month long stay in space.
Answer Options :
1) (@), (), (), (d)  2)(b), (c),(d) 3)(c), (d) 4) (b), (¢)
’) I fthed REDPR 2098 |AS! dctd ARFABNAT SAFaRT dihes ATer ‘A1e’ AT ARISH
RIS TRAUATT 3MTel. Wreflerddhl a1 RMa fige™ Pioft dhet amg 7
9) P TR Q) AR Ao 3) GUIRR gl Taadl ) A perepuit
92) Shrinivas Pokale won the Best Child Artist Award for his film 'Naal' at the 2019 National Film

Awards. Who amongst the following has directed this movie?
1) Ankush Chaudhari 2) Ngraj Manjule
3) Sudhakar Reddy Yakkanti 4) Gargi Kulkarni
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R3) YEIUDI R faum e :
a) 3 ALY AR 3FBIGH! REPR 09% IUITA 3ATe.
b) T PR IRF RGN el ST 9T SeraRaT el Sid Aréla.
¢) ARTST RaeT SIRTUT UICTeT AT AT DT RGTIGT REPR 2098 7e fHeTaT.
d) Sht 72 5ft. roft R I qRIBRT 209% HE REHR @I,
Tt S :
) (a), (b), (), (d) ) (a), (b) 3) (b),(c) 8) (a), (b), (c)
93) Find the incorrect statements from below :
a) Sahitya Academy Awards 2019 were given in 23 languages.
b) These awards can be given to biography but not to autobiography.
¢) Marathi writer Anuradha Patil received award for her short stories in 2019.
d) Mr. Shashi tharoor's book won prize in English category in 2019.
Answer Options :
1) (a), (b), (¢),(d)  2)(a),(b) 3) (b), () 4) (a), (b), ()
RY) SHIIA Hafd AIST ysaeid wumed woft ............... 3.
q) ST ?) @l fha 3) PR TS Q) SIRIC WIS
94) The largestinvertebrate, a spineless creature, in the world is ......
1) Octopus 2) Cuttle Fish 3) Colossal squid 4) Giant squid
QY) TISH IT MANTER T HIRIP™ ‘SI89 U= 3 § =X, 09%° A8l Wrefledht
P fHas defl ?
9) UeT e Q) AT FhoTs  3) ket oneft ¥) Pe fa=Teie
95) Who amongest the following was chosen as the 'Time Person of the Year, 2019' by the
Internationally acclaimed magazin-Time?
1) Greta Thunberg  2) Malala Yousafzai 3) Rishi Joshi 4) Kate Winslet
R%) HERTY g Priice Aidiel ATaareT st s/ faum e,
a) YT aR HNTIT SMURTER HERIEM 37Ul ST dhetall 378,
b) Se5TTd @ AT eSIeTG AT AT glel.
¢) FET Joid &1 pried Aefieal Riegr 3mme.
d) el aFep U doammaaT HHT e fadrg Has 9 <~I-Terd Uefed ITTe.
T S
) (a), (b), (), (d) ) (b),(c) 3) (b), (d) 8) (a), (b), (d)
96) Find the incorrect statements about boundary dispute between Maharashtra and Karnataka.

a) Belgaum is claimed by Maharashtra on linguistic basis.

b) Belgaum was part of Hyderabad princely state before independence.

c¢) Currently Belgaum is district of Karnataka.

d) Boundary dispute case over Belgaum is pending before Bombay High Court from many
years.
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Answer Options :

D) (), (b), (¢), (d)  2)(b),(c) 3) (b), (d) 4) (a), (b), (d)

RY)

97)

YR Taig el arg g e :

a) P AR THNE Yaiidial Aawiid R 31T ac- IRaTd! dlg SIaeeR SRl

b) WRAM g Heheu e FHaT Uulellergd odell 3.

¢) ARG TR FeRIE U & UdiG Il

d) ITygchie Fasuhlaa Tdlg WRIgR T JieR I fafdre Refw A Svarrdt fefa
B Ahd el

T S -

1) (), (b), (¢),(d) ) (a), (b), (c) 3) (a), () 8) (a), (b), (d)

Select the correct statements about whip in India :

a) Whip is responsible for the party's discipline and behaviour in the house of legislature.

b) Indiainherited this concept from the British Parliamentary System.

c) There can be chief whip, assisted by additional whips.

d) In presidential elections whips cannot direct a Member of Parliament (MP) or Member of
Legislative Assembly (MLA) to vote in a particular fashion.

Answer Options :
D) (a), (b), (¢), (d)  2) (a), (b), (c) 3)(a), (c) 4) (a), (b), (d)
R¢) IR Y TR fasdt g faerm aner :

98)

a) B a¥TEd. IRYE AL TIR el

b) 3R oITECT IgHTeH U, STaTgvatlel "ge- bat gl

¢) 3R ST 9%Wo FeR fUhert AT TIR H_ugma e,

d) arl i g fpRTRe! fGetedn SR wruard ST,

T S -

1) (@), (b), (©),(d) R) (b), (c), (d) 3) (b), (c) 8) (b), (d)
Find the correct statements about Aarey Milk Colony.

a) It came up in 1946.

b) Pt. Jawaharlal Nehru inaugurated the Aarey Colony.

c) After 1970 film city was carved out of Aarey Forest.

d) It came up on the land given to the department of dairy development.
Answer Options :

D) (), (b), (©), (d)  2)(b),(c), (d) 3) (b), (©) 4) (b), (d)

]R)

TRATclel g e Fenian faweht A fem aner

a) g1 fIcerarias gadt ureadT SRIST e,

b) SgaT & Fcenes fftes dact gaedl UGN UIdadl 3ifireh 3R,
¢) WRATT Yoo Turie /g THTUN AR

d) &1 Feries AsToaraTel AR TR UeNareaT heleRumE! g e,
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99)

TR I

1) (@), (b), (), (d) ) (a), (b), (c) 3) (b), () 8) (b), (), (d)
Find out correct statements regarding Air Quality Index (AQI) in India.

a) Itreports quality of air on a daily basis.

b) Higher the AQI value, greater the level of air pollution.

¢) India follows 500 points scale.

d) Monitors record concentration of the major pollutants to calculate AQI.

Answer Options :

D) (a), (b), (©), (d)  2)(a), (b), (c) 3) (b), (c) 4) (b), (¢), (d)

o0 ) HRATAT JIET Doy [GprT vl Ifey armed -

100)

a) PIAT UL qRT ARPRAT UgaTNep Ao TS .

b) d &N DIy fIHPRI 3RS Ul

¢) [oem™ Pieed fapRT T URuMHSReSTd Jelid DU,

d) I FHANTNIC! SAMRI% Waea- g Afgelid A&HIPRUl UL,

T S -

1) B (@), (b), () ) Hh (b), (c),(d)  3) B (a),(b),(d)  8) Bh (a), (c), (d)
Objectives of National Skill Development Agency of India are :

a) Support to government of India's five year plan for skills training.

b) Organize skills development across all factors.

c) Evaluate the effectiveness of existing skill development programs.

d) Empowerment of women through economic independence for betterment of society.
Answer Options :

1) Only (a), (b), (¢) 2)Only (b), (c),(d) 3)Only(a),(b).(d) ~ 4)Only (a),(c),(d)
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